Rebel 12 Option Parts List

Picotech's Description in English

Chassis

PO-RCHCO001 Option Motor Mount Plate

PO-RCHO02RD Option Motor Mount

PO-RCHO03RD Alloy Bearing Carrier A (1pc)

PO-RCH004RD Option Motor Mount Set

PO-RCHO05RD Alloy Sevro Mount (2pcs)

Drive Shaft

PA-DR0003 Lightweight Diff. Ring (2pcs)

Ball Bearing

PO-CBSTO06 Ceramic Ball Bearing Set for T.O.P. Rebel 12 (9pcs)
PO-CB0168 Ceramic Ball Bearing 1/4 x 3/8 inch (1pc)
PO-CB025F Ceramic Ball Bearing 1/8 x 5/16 inch F (1pc)
PO-CB168F Ceramic Ball Bearing 1/4 x 3/8 inch F (1pc)
Suspension

PO-RCHO006 Option Front Axle (each 2pcs)

PC-RSUO05RD Rebel - Front Suspension Arm Spacer Set (0.5, 1 & 2mm each 2pcs)
PC-RSUO06RD Rebel - Reactive Adjuster Spacer Set (0.5, 1 & 2mm each 2pcs)
PC-RSUO07RD Rebel - Upper Hinge Pin Holder Spacer Set (0.5, 1 & 2mm each 2pcs)
Shock Absorber

Spring

PS-PC10080 Rebel - Center Shock Spring 1.0mm x 8 coils
PS-PC12080 Rebel - Center Shock Spring 1.2mm x 8 coils
PS-PC13080 Rebel - Center Shock Spring 1.3mm x 8 coils
PS-PF04545 Rebel - Front Spring 0.45mm x 4.5 coils (2pcs)
PS-PF05045 Rebel - Front Spring 0.5mm x 4.5 coils (2pcs)
PS-PS05060 Rebel - Side Spring 0.50mm x 6 coils (2pcs)
PS-PS06060 Rebel - Side Spring 0.60mm x 6 coils (2pcs)
PS-PS06560 Rebel - Side Spring 0.65mm x 6 coils (2pcs)

Spur Gear

SG-K64076 Spur Gear 64P 76T

SG-K64078 Spur Gear 64P 78T




SG-K64080 Spur Gear 64P 80T

SG-K64082 Spur Gear 64P 82T

SG-K64084 Spur Gear 64P 84T

SG-K64086 Spur Gear 64P 86T

SG-K64088 Spur Gear 64P 88T

SG-K64096 Spur Gear 64P 96T

SG-K64104 Spur Gear 64P 104T

SG-K64108 Spur Gear 64P 108T

SG-K64112 Spur Gear 64P 112T

Linkage

Accessores

AW-FNO3RD Aluminum Flat Nut M3 Red ( 5pcs)

AW-LNO3RD M3 Aluminum Nylon Nut Red (8 pcs)

PA-BW0060 Balance Weight 5g & 10g

Screw

PA-SS0303 M3x 3mm Stainless Steel Hex Socket Set Screw (10 pcs)
PA-SS0306 M3x 6mm Stainless Steel Hex Socket Set Screw (10 pcs)
PA-SS0308 M3x 8mm Stainless Steel Hex Socket Set Screw (10 pcs)
PA-SS0310 M3x10mm Stainless Steel Hex Socket Set Screw (8 pcs)




